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QUESTION 1

What is true about the community string used for SNMPv1 and SNMPv2c?

A. The community string encrypts the SNMP message, but does not hash it, providing for data privacy.

B. The community string hashes the SNMP message, but does not encrypt it, providing for data integrity.
C. The community string encrypts and hashes the SNMP message, providing for data integrity and privacy.
D. The community string is like a password transmitted in cleartext, providing no data integrity or privacy.

Correct Answer: D

QUESTION 2

Which settings enable a network administrator to use terminal emulation software to interface with an HP Comware
switch\\'s auxiliary port?

A. 9600 bps, 7 data bits, 1 stop bit, no parity, flow control

B. 14,200 bps, 8 data bits, 1 stop bit, parity, flow control

C. 9600 bps, 8 data bits, 1 stop bit, no parity, no flow control
D. 9600 bps, 8 data bits, 1 stop bit, parity, flow control

Correct Answer: C

QUESTION 3
Refer to the exhibit.

ProVision# show ip ospf neighbor
OSPE Neighbor Information

Bxmt Helper
Router ID Pri IPF Address HbIfState State OLen Events Status
10.0.0.2 1 10.1.102.2 DR FULL 0 6 Hone
10.0.0.1 i 10.1.103.1 DR FULL 0 & Hone

Based on the output shown in this exhibit, which statement is true about the 10.0.0.2 neighbor?
A. The neighbor is communicating with this switch, but it cannot hold any more routes in its database.
B. The neighbor is communicating with this switch, and they have exchanged all topology information.

C. The neighbor has mismatched settings and cannot exchange information with this switch.
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D. The neighbor is rejecting communications because it already has its maximum number of neighbors.

Correct Answer: B

QUESTION 4

Refer to the exhibit.

Link 1
VLAN 101
10.0.1.0/24

Link 2
VLAN 201

Switch-1 10.0.2.0/24

Switch-1 is an HP ProVision switch.

A network administrator wants Switch-1 to run Open Shortest Path First (OSPF) and create neighbor relationship on
Links 1 and 2. What should the administrator do to accomplish this?

A. Access the VLAN context for the VLANSs assigned to Links 1 and 2, and enable OSPF.
B. Access the global configuration context, and create OSPF routes to 10.0.1.0/24 and 10.0.2.0/24.
C. Access the physical interface context for the Link 1 and 2 ports, and enable OSPF.

D. Access the OSPF area 0 context and specify the networks on Links 1 and 2 (10.0.1.0 0.0.0.255 and 10.0.2.0
0.0.0.255).

Correct Answer: B

QUESTION 5

Exhibit1.
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Exhibit 2

switch-1({config)# show 1p route
IP Route Entries

Destination
10.0.1.0-24
10.0.2.0-24
10.1.10.0-24
10.1.20.0-24
12700 .08
127.0.0.1-32

Gateway
VLAN101
VLANZ01
VLAN1O
10.0.1.1
reject
lal

Vlan
101
201
10
101

Type sub-Type
connected
connected
connected

static

static

connected

A network administrator wants to create a backup IP route to 10.1.20.0/24 on Switch-1. The backup route should use
Link 2, and it should only be used if Link 1 is down. What is the correct setup to accomplish this?

A. an IP route through 10.0.2.2 with administrative distance 1

B. an IP route through 10.1.20.1 with administrative distance 1

C. an IP route through 10.0.2.2 with administrative distance 10

D. an IP route through 10.1.20.1 with administrative distance 10

Correct Answer: D
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